
 

 
MARCY CLUB 

OLYMPIC BENCH 
 

MKB-957 
 

 
IMPORTANT: Please read the Important Safety Notice and Assembly Information in 
the Owner’s manual before assembling this product. 
Assembly Manual 
210111 



©IMPEX INC.             www.marcypro.com1 

1 ×1

3 ×2

2 ×1 5 ×1

4 ×1

6 ×1

9 ×1

10 ×1

12 ×1
13 ×1

14 ×1

15 ×1

7 ×2

8 ×2

11 +



©IMPEX INC.             www.marcypro.com2 

21 ×2
22 ×3

24 ×2
26 ×1 27 ×1

17 ×116 ×1
18 ×1 19 ×1

20 ×1

23 ×3

28 ×1

30 ×3
31 ×6 32 ×6 42 ×2 52 ×1



©IMPEX INC.             www.marcypro.com3 

49

 ×1

47

M6 x ½" ×1

48

Ø ½" ×1

50

  ×1

51

4½"  ×2

53

4"   ×1



©IMPEX INC.             www.marcypro.com4 

56

M10 x 3 ½" ×4

57

M10 x 2 ¾" ×2

58

M10 x 2 ½" ×1

59
M10 x 2 ⅜" ×2

60

M10 x 3 ¾" ×2

61

M10 x 4 ¾" ×1

4#×1 5#×1 6#×2



©IMPEX INC.             www.marcypro.com5 

67

Ø ⅝" ×10

62

M10 x ¾" ×2

63 M10 x ⅝" ×13

64 M8 x ⅝" ×6

65
M8 x 1 ⅝" ×4

55

 ×1

66

 Ø ¾" ×30

68

M10 ×12

54

Φ 2"  ×1



©IMPEX INC.             www.marcypro.com6 

1

1

68
1

1 M10×3 ¾"

6
Φ ¾"

×

×
×

60

66

M10

3

8

60

66

66

66

66

66

63

63

63

68

63
× 4 M10× ⅝"



©IMPEX INC.             www.marcypro.com7 

2

68
1

1
M10×3 ¾"

6
Φ ¾"

×

×
×

60

66

M10

63
× 4

M10× ⅝"

2

3

8

60

66

66

66

66

66

63

63

63

68



©IMPEX INC.             www.marcypro.com8 

3

4

68 4

4

×

×

×

56

66

M10×3 ½"

Φ ¾"

M10

66

68

68

66

68

68

66

66

5

2

1

56

56

23

23



©IMPEX INC.             www.marcypro.com9 

4

3 M10× ⅝"

Φ ¾"
3

×

×

63

66

66

66

63

63

14

13



©IMPEX INC.              www.marcypro.com10 

5

4

15

42



©IMPEX INC.              www.marcypro.com11 

6

66

68

59

59

58

66

68

57

66

68

13

5

4

68

57

58

66

59

× 5
Φ ¾"

× 5 M10

× 2 M10×2 ¾"

× 1
M10×2 ½"

× 2

M10×2 ⅜"

23



©IMPEX INC.              www.marcypro.com12 

7

61

66

66

68

66

61

20

9

13

15

42

53

68

1

2 Φ ¾"

×

×

M10

× 1 M10×4 ¾"

53

× 1   4"



©IMPEX INC.              www.marcypro.com13 

8

47
× 1

M6× ½"
48

50

× 1 Φ ½"

× 1

66

63

66

63

47

48

55

10

13

49

12

11

52

× 1

49

63
× 2 M10× ⅝"

66

× 2 Φ ¾"

55

× 1

50



©IMPEX INC.              www.marcypro.com14 

9

× 4
M8×1 ⅝"

× 4 Φ ⅝"65 67

67

67

65

65

21

26

6

2

1

15



©IMPEX INC.              www.marcypro.com15 

10

64
× 6 M8× ⅝"

× 6 Φ ⅝"

67

67

64

64

67

20

9

27

28



©IMPEX INC.              www.marcypro.com16 

11

54

22

22

31

31

31

31

32

32

32

10

30

54

13

Φ2"× 1



©IMPEX INC.              www.marcypro.com17 

12

62
× 2

M10× ¾"

× 2 Φ ¾"
× 2      4 ½"             66

51

51

51

7

7

1

2

30

30

24

24

16

17

19

18

8

8

62

66

62

66



©IMPEX INC.              www.marcypro.com18 



©IMPEX INC.              www.marcypro.com19 

IMPEX® INC. 
2801 S. Towne Ave, Pomona, CA 91766 

 Tel: (800) 999-8899   Fax: (626) 961-9966 

www.marcypro.com 

support@impex-fitness.com 

http://www.impex-fitness.com/



